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Hl = 0l &F Ab H Al A
A MHEXX D
Bu: HEENMEH 29
el METIXISY (crel:za)
CBA-E.OE0) - NBAY B | e JlEey HRS2
A& XX 1,352,309 1,371,437 219,128
HYSAMAEH 29 1,146,507 1,161,606 215,099
HEAX 29 749,831 760,525 210,694
s -8 85 I3 262,790 266, 140 A 3,350
301 YEtEA = 259,320 262,670 23,350
055 8& - 0|8 - BIEESEAZ 259,320 262,670 23,350
Or& g 6,600 3,950 A 3,350
MEEAE FA2E] 331,387 338,731 AT,344
101 21294] 213,359 220,703 AT,344
4 D12t 22 NEEs 213,359 220,703 AT,344
OHdEHEAIE 22 213,359 220,703 AT, 344
—~HE, §AI22LY 36,720 44,064 AT, 344
A2 396,676 401,081 24,405
HAMSK 22| 306,932 311,337 24,405
405 X = H| 10,0085 14,500 L4,405
01 ML EEFHSHI 10,095 14,500 A4,405
Oga & Se&d ¢ 10,095 14,500 24,405
SHIMSHAH|(ZLH M) 205,802 209,831 24,029
oz 29| 30,042 34,071 24,029
laE 23| 30,042 34,071 24,029
101 o1yl 30,042 34,071 24,029
03 BRA(RIAHL) 22 UHE S 30,042 34,071 24,029
OOIKAABBE(BAI2H) 30,042 34,071 24,029
— A2+ =& 3,082 7111 24,029
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Hl = 0l & AF & H Al A
2 SAIAED
= YHH CAEA
CHel: FOI%E AL CLEL
VT %(sm) kII‘”M@ .pE= omou - Jime | uDsz
SAAED 1,818,270 1,858,799 240,529
BEE TAEA 1,367,887 1,408,416 240,529
FO=FAAA 1,152,471 1,185,000 A32,529
SU46E OI23 2 2XI0He 842,930 860,000 217,070
401 AlEHIZ 2] 842,930 860,000 217,070
01 Al&H] 842,930 860,000 217,070
Og U465 Ots3& 20 842,930 860,000 217,070
HIS 2299-1H X L& FAHEHIZ2A 79,541 85,000 215,459
401 AIEHIZ 200! 79,541 95,000 215,459
01 Al &H| 79,541 95,000 215,459
OEUE 2299-1H X L& RHEHIZ2AH 79,541 95,000 A 15,459
AJHR 88 x4 160,784 168,784 28,000
SE2H sXEUAE 62,000 70,000 28,000
401 AlEHIZ 20| 62,000 70,000 A8,000
01 Al &I 62,000 70,000 28,000
OocgH Mxz==dg 62,000 70,000 A8,000
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M = 0l & AFSH E Al A
2AMN: 243
M Qs 2Y
Cel Que HESH (sl me
SA-EY-O(S) - NSAY - BES | ol olme Hlm=2
ES 1,465,867 1,478,417 212,550
S 29 549,917 557,467 AT,550
s dE2d 385,119 392,669 AT,550
cl.Btd &=XE 246,880 252,430 25,550
301 getEd = 243,640 249,190 5,550
05 E& -0 - BEESEAZ 243,640 249,190 25,550
Oetz 19,000 24,550 A5,550
HEHWSAE X2 0 2,000 A2,000
201 et | 0 2,000 22,000
02 E&E=244| 0 2,000 22,000
OAEZHISXHI (0 2SI FAIE) 0 2,000 22,000
HYSIHFH(LES) 425,219 430,219 25,000
Jl=&Hl 124,956 129,956 25,000
Ji2 &l 124,956 129,956 A5,000
201 2 Er2Ey| 69,076 74,076 25,000
02 E523H| 13,552 18,552 25,000
ORER3 13,552 18,552 A5,000
—ZERH 3,640 5,640 22,000
—SI|SH 9,012 12,912 23,000
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H = 0 & AF S H Al A
2A: EHEE
HHM: EAHRE 29
chel: SRl HESY CEER-E!
BN B E(E) - MEAY - BES | ol Jze | wans
ElHRES 1,118,654 1,193,054 AT4,400
EAHEES 29 634,178 659,478 225,300
EHaE 2™ 251,426 266,726 A 15,300
SEXE sARe 4,928 7,428 22,500
201 2Bty 4,928 7,428 22,500
2 B32g4| 4,928 7,428 22,500
Oxtekeldl 4,928 7.428 22,500
—XtEERAl2eld] 1,340 3,840 22,500
cl - BrE S 151,920 153,920 22,000
301 etEm™ S 148,120 150, 120 22,000
058X -0 - HHEESEAS 148,120 150, 120 22,000
Obt& g 12,400 14,400 22,000
SEANMEZ=A 3,520 4,320 2800
201 B2 | 520 1,320 A800
01 AR 221 520 1,320 A800
OZ A A = 520 1,320 A800
FOUXXAE 29 60,010 70,010 210,000
201 Bt 3| 30,740 40,740 210,000
01 At 22lHI 28,580 35,580 AT,000
O3 &&d 26,600 33,600 A7,000
02 2223l 2,160 5,160 23,000
OAl & &HI Rl 1,800 4,800 23,000
—AXEEH |A2L 1,800 4,800 23,000
A2 2] 382,752 392,752 210,000
A X 22 279,547 289,547 210,000
201 et HH| 242,320 252,320 210,000
02 S32ghl 201,520 211,520 210,000
OAl &€ &Yl R Al 14,000 24,000 210,000
—A&EE sA&2] 7,000 12,000 25,000
—AdE sX2elyl 7,000 12,000 25,000
EH3E MEZEHI 219,671 268,771 249,100
Fo =AY 92,177 141,277 249,100
gl A& 122l OfAR ZLE ZAl 0 49,100 249,100
401 AlEHIZ 200 Y] 0 49,100 249,100
01 Al& Yl 0 49,000 248,000
OCEHRA122] OtAZ2 EZ& A 0 49,000 249,000
03 Al R 0HbI 0 100 2100
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A & 0l & AFH H M A
2N S5
HH: S0 AT
el Z=OIHR ALY (=T
243 e HRAY - BES | ole JEe | v@Ez
=59 1,447,985 1,492,985 £45,000
=SH A ZH] 610,522 650,522 240,000
FU=SBEAL 468,782 508,782 240,000
;:*—%EH OtSCtLiE & ZEE EXSM(FF AN 0 40,000 240,000
401 AIEHIZ R 0 40,000 £40,000
01 Al &4 0 40,000 £.40,000
Olt= tE % ZEE EXSA 0 40,000 240,000
gy 2B (+8¢) 312,541 317,541 £5,000
JlEZ 76,780 81,780 25,000
Jl=dl 76,780 81,780 £5,000
202 O4H| 18,000 23,000 25,000
01 LAY 18,000 23,000 45,000
OJI2gf+d0tl 18,000 23,000 45,000

-122-




